AUTOMATICALLY MAKE INTERACTIVE HERE -

PRACTICE TEST MATH

1 Does a traffic policeman sometimes make curved lines

Yes no
2 31-16=7 15 36 25
3 Triangle has ------- lines
2standing and 1 sleeping 1 sleeping and 2 slanting
3sleeping
4 45+18=7 50 36 63
5 Adircle has --—-——-line.  Curved sleeping straight
6 25+25=7 50 40 30
7 Lbhas —-eeeeee- lines. 2 3 5
8 25-7=7 18 22 17
9 35-19=7 18 16 17
10 43+38=7 71 81 17
11 63-47=7 16 24 25
12 92-76=7? 16 24 26
13 24+16="7 36 40 30
14 L has --—- lines. 2 3 5
15 -—— cannot make with matchsticks ? T K S

16 Sakshi had 23 fruits .She ate 15 fruits .How many fruits are left ?

7 8 -
17 Daljeet has 38 marbles .Arvind has 23 marbles .How many marbles
do they have . 7 16 61

18 Seema has 17 pencils .Siya has 28 pencils .How many pencilss do
they have inall ? 57 45 61

19 Nisha has 38 bengles .Usha has 14 bengles .How many more
bengles does Nisha have ? 24 45 54

20 Ansha has 32 rupees .He bought a ball for 17 rupees .How much
money is left with him ? 24 16 14
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